= +No F— 14 RFA3—1 A1 RTA/R—2 B4 2 RZA/3—3 B4 3
HARMITEEEL A o 1L L/C81 Sl TJ R = | L/C73
TeAZH F 7R JIEHT—B] |L/C81 I AIKT L/C81 R, JALL
HARMITY Y AT > N F s o (=225 L/C73 INEF LR L/CT77 B3 L/C73
HARMIT}~\ ! Falls KAERES  |L/CT3 rev 7k |L/CTT AR L/C173
JeA JIREEST L/C73 FERINZ Ak JA11 L FE— L/C73
SLCCYrDaddy’s aNsLf L/CT73 WG |L/CT73 IIARTH IR BJ74
FLCC e A D ] BJ74 FEFIESE  |KZJT78 TS Y61
23 A ZHh A Kudo—] Works P A ] JA11 WARTE  |JA1L WHTHITES  |JALL
KL% Kudo—] Works I JALL HEREE Vhm— BIHE—ES |V h=—
N’s h7A4 7V (GESRTE JALL 5 o TIRT1 LEIATIYIN TJ
BIFHE% Kudo-J Works HR R — JAL1 ReIRER—  |JALL A RS JALL
LCCO FIRrIob A AR BJ44 fHfEfLE |BJ74 PIH CJ-7
LCCO EAR? ZKE HJ61 SHEBCL |L/C81 R B L/C76
LCCO 385+& ZHE L/C81 5 A2H L./C81 =R L/CT73
SLCC YGR? 2 T-HER JA11 HEEZ  |L/CT0 Ha T BJ74
Kudo-] Works = /L= % BoHZFE— |JALL EIREZ |JALL SFHDFH |JB23

TRYANGLEJUWHNDV 1k HGTF—248




TRY-ANGLE 2010 JuDV1 Eoay ISl H Time B 2Sec &5 Time Time } wme A

F— 14 No. W.B 1SecTime /I Point * 1 Time Jig Point * Point * — #F3  ARAUh JIEAL
ILCCO 35 & 13 |[s260]|[1072.46 L4 ]l J[1a]l | J[ia][ orz.a4 [ ][ J[20][27 ]| N o A | |
[vehr 6 J718s5]o7"33.03 [T ][ Jlzo][ [ J[z0][o738.88 [ 2] J[17][24] | N o T | P |
[FLCC 12 7690 ] 0s'29.76 2 [ Ju7 ][ | I[i7][oss6.59 5 ][ J[1s][24]| | I T R |
[HARMIT #k&A [ 11 (7790l 10'2.25 3] s ][0 [ l2a][ trast (7] Ja]fis]| N I O R N | |
[Lcco 792 Hoboa |8 J[7ssof[1rsorz (5] Js][3 ][ J[i6f[ 10548 |6 ][ Jli2][18]] | I R R | | |
[SLCC+rDaddy’s | I JCJC 1 JC Jlosis.38 (3 ][ J[15](=7 ]| | I I Y P |
[eA ZF > /SO [ 15 ][7690]] I T fjloss.50 L4 ][ J[1a]f24]] N o TS | |
[HARMIT 35~V ! Falls 3 J[7960] I I IC I I | I IL8 |l |
[HARMITO A7 5= | 16 |[7950]| I IC I I I | I IL 9 | |
[LcCo #if% 717800 I I I I I | [ 10 ]| |
[+ 5B% kudo—j works [ 10 J[6140][Coa27.00 1 J[20][ 9 [ J[29][ 09’5793 ][ 2 ][17][27 ]| | REEE| |
lkudo—j works =/L- =Tk o Jf60s0][0sts.52 [ J[2 a7 ][ 3 [ J[20][12710.28 [ J[4][1a][21]| | L2 |
IN’FF A7 v 4 Jl6735] I T fjfo7za.56 [T [ 1][20]27 ]| | O R VA | L3 |
34 2 Akudo-j works 14 J[6135]] [ (NERTXTY 6 PR | | I R YA | L4 |
[SLCC YGR? ? [ 2 esoo]| I ICIE I JC Jfrrazso ][ s ][is] =i ]| | I I A G| L5 |
PPl 7B kudo-jworks || 5 ][6305]] I I Jesrss.s2 T e iz fiz ] | I R Y | IL 6 |




TRY-ANGLE 2010 JuMIDV1 1SECHA{ZZ 1Sec # Time 1Sec

JEAT JEI%O F—214 No. W.B  Time JIE Point ¥ = Point
1 HARMIT $kEA [ 11 |[7790] | 10°2.25 || 3 15 9 24
2 VERF [ 6 ] [7185] [0733.03 ][ 1 20 20
3 FLCC [ 12 ] [7690] [08'29.76 |[ 2 17 17
4 LCCO 75A HZobzi  |[ 8 |[7530] [11'50.72 |[ 5 13]3 16
5 LCCO 3Hit [ 13 ] [s260] [10°12.46 |[ 4 14 14

DNE LCCO HfH [ 7 | [7s00] |

DNF Ve b ZEAF > /5D [15 | [7690]

DNF HARMIT F5~\> | Falls [ 3] [7960]

DNF HARMIT A7 5o = |[ 16 | [7950]

DNF SLCCY¥<Daddy’s [ 1] [7850] |

1] [385B% kudo—j works [ 10 ] [6140] [oa27.01 |[ J[1]20][ 9 29
2 |[kudo—j works = /LTRR [ 9 ][6090] [o8'13.52 | J[2][17] 3 20
DNEF | [KELF#2 kudo-jworks |[ 5 | [6305] [ |
DNE | [N F5A7 1 [z | [6735]
DNF | |23A 2% Akudo—j works z @
DNF ] [SLCC YGR? 2 [ 2 ] [6890]




TRY-ANGLE 2010 Ju/iDV1 2SECHANZF  2Sec 4  Time 2Sec
JNE{ST L}IEI{%O F— L4 No. W.B  Time JIE Point * Point
1 LCCO 35it [ 13 | [8260][ 07°2.44 |[ 1 20| 27 47
2 SLCC¥Daddy’s [ 1 ][7850][08'18.38 | 3 15[ 27 42
3 0k [ 6 ][7185][07’38.88 ][ 2 17 24 41
4 VeA ZEIT > /3D [ 15 | [7690][ 08'31.59 |[ 4 14][ 24 38
5 FLCC [ 12 | [7690][ 08°36.59 |[ 5 13][ 24 37
6 HARMIT #8174 [11 | [7790][ 1ra.51 |[7 11][18 29
7 LCCO 79A Hobxha  |[ 8 |[7530][10°51.48 [ 6 12] 18 27
DNF LCCO HifR [7 ] [s00]
DNF HARMIT F5~\> | Falls [ 3 ][7960]
DNF HARMIT % A7+ 5o = |[16 ] [7950]
1IN A7 [ 4 ][6735][07°23.56 1 [20] 27 47
2 |[BIBFk kudo—j works [ 10 | [6140][ 09°57.93 o [17] 27 44
3 A4zt Akudo—j works [ 14 | [6135][ 12'48.98 5 [13] 27 37
4 |[sLcc vGr? 2 [ 2 |[6890][ 1r'47.8 3][15] 21 36
5 |[kudo—j works =/L-=B% [ 9 |[6090][ 12°10.28 1 ][14] 21 35
6 |[XFL+6#t2 kudo—jworks |[ 5 | [6305][ 13°35.52 6 [12] 12 24




